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QUESTION 1

A Campaign developer configures a delivery with 100 records. After executing the delivery, the developer goes to
approve the targeting. The developer sees 100 records as the target count and 90 records as the To Send count. 

The Campaign developer needs a detailed listing of the individual records dropped and the reason for exclusion before
approving the target. 

After opening the delivery, how should the campaign developer perform this task? 

A. Go to To: -> Exclusions. Select Allow Excluded Addresses. 

B. Go to Delivery -> Exclusions 

C. Go to Tracking 

D. Go to Audit -> Causes of Exclusions 

Correct Answer: B 

Reference: https://docs.adobe.com/content/help/en/campaign-classic/using/sending- messages/key-stepswhen-creating-
a-delivery/steps-defining-the-target-population.html 

 

QUESTION 2

In the picture of a workflow provided, what is the current state of workflow? 

A. Start 

B. Restart 

C. Paused 

D. Stop 

Correct Answer: D 
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QUESTION 3

What configuration would allow a folder to display records that are physically stored in one or more folders of the same
type? 

A. Make this folder a system folder 

B. Make this folder a view 

C. Give the read data access right 

D. Hide this folder from the lists 

Correct Answer: D 

 

QUESTION 4

A client has two separate recipient folders for its English and Chinese speaking recipients, and each folder has its
respective user group. How should the developer set up the user rights for a manager if they wish to see both recipient
folders? 

A. Assign the named right MERGE to the operator 

B. Assign the named right FILES ACCESS to the operator 

C. Assign the operator to each language group 

D. Assign the new operator to the Administrator group 

Correct Answer: C 

 

QUESTION 5

Adobe Campaign has out-of-the-box namespaces. What are two of these namespaces? Choose the two correct
answers. 

A. xtn 

B. ncm 

C. xkt 

D. xtk 

E. nca 

Correct Answer: AD 
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